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RecF1Bo(n):
ifn=0
return 0
elseifn=1
return 1
else
return REcFiBo(n — 1) + RecF1Bo(n —2)
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L Momeization — Temenber yourpast Lork

MeMF1BO(n):
ifn=0
return O
elseifn=1
return 1

else

if F[n] is undefined
F[n] « MEMF1Bo(n — 1) + MEMF1BO(Nn — 2)
return F[n]
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ITERF1BO(N):
F[0] <0
F[1]«1
fori—2ton
F[i] « F[i—1]+F[i —2]
return F[n]

ITERFIBO2(N):
prev « 1
curr < 0
forie—1ton
next «— curr + prev

prev « curr
curr « next
return curr
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{(Compute the pair F,_,, F,,))
FasTRECFIBO(N) :
itn=1
return 0, 1
m « [n/2]
hprv, hcur « FasTRECF1BO(m)
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(F
prev « hprv* + heur? (
curr « heur - (2 - hprv+ hcur)  ({
next < prev + curr (
if n is even

return prev, curr
else

return curr, next
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((Is the suffix A[i..n] Splittable?))

SpLITTABLE(A[1..n]):

: SPLITTABLE(7):
=0 ifi>n #'\ D(/\L\/ ways
T S
if SWoRrRD(A[1..1]) forje—iton ”;:\/\c (0

if IsWorD(1, j)

if SpLITTABLE(A[i + 1..n])
return TRUE

return FALSE

return FALSE

if SPLITTABLE(j + 1)
return TRUE
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FasTSPLITTABLE(A[1..n]):
SplitTable[n + 1] « TRUE

or i « n down to
SplitTable[i | < FALSE
forje—iton

SplitTable[i] « TRUE
return SplitTable[1]

if IsWorD(i, j) and SplitTable[ j + 1]
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